


0 The opening batsman in a cricket team
scored the highest number of runs in his
team’s innings. The other ten batsmen
made the following scores.

1 35 17 0 15 40 0 8 1 O

The mean score for the eleven batsmen
was 20. Find the opening batsman's

0 The first 12 customers at a booking office
each bought the following number of
cinema tickets

2 1 3 16 1 4
38 4. 1 7 .2

After the 13th customer the mean
number of tickets for each customer was
4. Find the number of tickets bought by
the 13th customer.

° The daily maximum temperatures
recorded for six days in January.
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When the temperature on Saturday
was included the mean temperature for
the week was - 1°C. Find the Saturday

temperature.






ANSWERS

1.a) 27

2.a) 1150¢g
3.a) 385mph
4.a) 121
5.a) 49

1.103
2.5
31°C

1.a) 1.4m
2.3.4m
3.90mm
4.3.5

b) 9
b) 5
b) 7
b) 11
b) 7

b) 4.66m

c)3

c) 230g
c) 55mph
c) 11

c)7




